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Drive trace indexes - Vehicle 1
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*) Lab. D: calculated by 1Hz data



Drive trace indexes - Vehicle 2
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input data

calculated data

valid test

| fo | f1 | f2
N N(km/h)  N(km/h)’ | RMSSE in km/h| RMSSE in km/h | RMSSE in km/h | RMSSE in km/h | RMSSE in km/h | RMSSE in km/h | RMSSE in km/h |
| 1643882 | o068 | 0,0297 1,34 1,45 1,22 0,53 1,17 0,53 1,41
. o o (v.D-v T)Z cumulative underspeed Over or same underspeed overspeed S
- - - - RMSSE RMSSE speed RMSSE accel decel

s km/h km/h (km/h)?
0,0 0,00 0,00 0,00 0,00 0,00 0,00
0,1 0,00 0,00 0,00 0,00 0,00 0,00
0,2 0,00 0,00 0,00 0,00 0,00 0,00
0,3 0,00 0,00 0,00 0,00 0,00 0,00
0,4 0,00 0,00 0,00 0,00 0,00 0,00
0,5 0,00 0,00 0,00 0,00 0,00 0,00
0,6 0,00 0,00 0,00 0,00 0,00 0,00
0,7 0,00 0,00 0,00 0,00 0,00 0,00
0,8 0,00 0,00 0,00 0,00 0,00 0,00
0,9 0,00 0,00 0,00 0,00 0,00 0,00
1,0 0,00 0,00 0,00 0,00 0,00 0,00
1,1 0,00 0,00 0,00 0,00 0,00 0,00
1,2 0,00 0,00 0,00 0,00 0,00 0,00
1,3 0,00 0,00 0,00 0,00 0,00 0,00
1,4 0,00 0,00 0,00 0,00 0,00 0,00
1,5 0,00 0,00 0,00 0,00 0,00 0,00
1,6 0,00 0,00 0,00 0,00 0,00 0,00
1,7 0,00 0,00 0,00 0,00 0,00 0,00
1,8 0,00 0,00 0,00 0,00 0,00 0,00
1,9 0,00 0,00 0,00 0,00 0,00 0,00
2,0 0,00 0,00 0,00 0,00 0,00 0,00
2,1 0,00 0,00 0,00 0,00 0,00 0,00
2,2 0,00 0,00 0,00 0,00 0,00 0,00
2,3 0,00 0,00 0,00 0,00 0,00 0,00
2,4 0,00 0,00 0,00 0,00 0,00 0,00
2,5 0,00 0,00 0,00 0,00 0,00 0,00
2,6 0,00 0,00 0,00 0,00 0,00 0,00
2,7 0,00 0,00 0,00 0,00 0,00 0,00
2,8 0,00 0,00 0,00 0,00 0,00 0,00
2,9 0,00 0,00 0,00 0,00 0,00 0,00
3,0 0,00 0,00 0,00 0,00 0,00 0,00
3,1 0,00 0,00 0,00 0,00 0,00 0,00
3,2 0,00 0,00 0,00 0,00 0,00 0,00
3,3 0,00 0,00 0,00 0,00 0,00 0,00





